Algebra 1 Notes...
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Bld Factor Quadratic Equations When the Leading Coefficient IS NOT 1

VOCABULARY:
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o Standard Form of a Quadratic Equation AX“+RBx +C =

Where A" Q): C ove recl nymbes ; and Ao

e Factoring is a lot more work when a#1

m Factor when a and c are prime number other than 1
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1) Identifya, b,andc. a= &) b= _] = and c=_
2) Write 2 sets of ( )’s. One for each factor.
— = x> (th term)
3) What are the first terms in both factors? Why? & Xe¢eX = X + e |5t "
4) What are the signs for each factor? %O‘H‘ "DOBI'HUQ since B+ Coare FOBH‘I\I&
5) What are the factors of 2 and 7? Put them under the numbers

od LS (MOH'PL& INNELTEQMS O0TEL Teems, and their som rmost be 6'
7) CHECK by Multlplymg the factors

)@ +7) = AT+ WX + X+ T = Q= 4iSxaT,”

m&ctor and Check by mentally multiplying
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Algebra 1 Notes...

DEWIENS Factor when the leading coefficient is negative (-a)

74
Steps to Factor: -2x*-11x-5= —ILR.Xz'f'\\X ‘\'33
L ST lox L-5
‘ et L \ox

- l (2)("1“ ﬂ_)()(‘l" =) ) *‘,n(
1) Identifya, b,andc. a=_—" A b=_—1\ ande=_—S or
2) Always factor out -1 when the leading coefficient is negative. '
3) Factor l - (X*S‘> (D‘X'H\ E

(k4] C2xad) - (Qx +AX £S)e-l = 2=y -5,/
DENIEN Factor when a and ¢ are NOT prime numbers
STaetT w/l >TT’&(I_N\ -5 §X 3 =ISX

" Py

l—@l) 2:21x= Yx \ ):’(

+ 1%

Steps to Factor : l19§2+1QX+,60= (5 x+ 2)(a x+> N ,@;—;
2.5 ) -

1) Write 2 sets of ()’s. One for each factor| Fii )l vovwar you Knouwd)
2) What are the factors of 10 and 6? Put them under the numbers

3) Draw brackets
4) Factor by guess and check.
5) Always CHECK by Mentally multiplying the factors !N

Solve Quadratic Equation by Factor‘tir_zg -a= —JOX
T qR

Factor: 5x2 6x-8 = ( <A + :.!i )(Xl - o :1331
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Check: 5 3 1612~ = g/
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